——— ———

/4

iy, uGate23 Double

N

-

— —— ——— —\
(/

/X" Power Operated De

DRAWN BY: EF

DATE: 26-5-2023

REF.NO:  fi_uGate23 De

TITLE:

FOUNDATION / BUILT UP / BASIC DIMENSIONS OPENING

DOUBLE

IS

PROJECT:

SLIDING GATE uGATE

DRAWING NO:

p09473

REV NO:

0

SHEET:

1v4




= Me =
VO-YMvKas 3x2.5rm \ 1100 j Pvcogd-100 555
[ ]
T i 700 T T
©o| X H Oo=———=—e0 m::ﬁ H PO o
NI I i maxg40 —f= | 9 g
S |={—nax @40 |y [ o I I wl *
c '——'+‘ = = = = = = - —- - - H= - - - - ——%—— - H - - - = = = = = H-——-C
__E_L_ICD::::::::::::::::::::::@C’I “ ICD::::::::::::::::::::::&C’I s E
: DOORGANG / OPENING :
DURCHGANG / PASSAGE
S B 195 (PPNING 195 B g
N N
E BUITENZIJDE - OUTSIDE - AUSSEN - EXTERIEUR - UTANFCR €
h%W\EMiJ'” Z?UfﬂUd'Ufeﬂ_B. lire/ reknedijl Zaurfludt/fere lire/
aligenert doture/ daletlirje aligenert doture/ daletlife
Dde » 313
. . . iveld/ Geladehie /
—waperirg/ Amierurg/ reirfacenert / g&arat;};?/el / nsleau i Sd BR _,| —waperirg/ Amierurg/ reirfacenert /
g femailage / Amerirg 100x100-150x150 Markiva ' femailage / Amerirg100x100-150x150 g
H < A - BL = |CL { CR - | AR — H
2 e e [ I Y T S 1=T=F T T
o I || We=162 »3/3 I o | We=162 »3/3 T‘ | I o
& I 5\ I &8 | |5\ I &
S = AL - BL = CL CR — AR — =)
+
BR —
728 198 530 198 198 530 198 728
TT T T TT
I 8 8 18 8 sl 8 || g @ I
H::::: N U" N « ——7JJ N :::::H
\z75 @75/
AL-AL BL-BL CL-CL CR-CR BR-BR AR-AR
Type Afe Bf B
70-70 14402 2520 2130
80-80 16402 2920 2530
90-90 18402 3040 2650
100-100 20402 3160 2770
110-110 22402 3840 3450
AL 120-120 24392 4105 3715
BetanC20/25.Trekdaadvaraf inPVC tuislegenengadaarvullenra legenlkalel. UNIT: nm
Afwkirgeninuitveerirgzreer teegermirg van Heras isriet teegedtaant HN)NIE
EN
Cauete C20/25. Plae pull vire inadrane inPVC. Fillup woikirgpacee arurdtube after pladrgeledrokabel FOLN)N'ON
Mdfiatininexeautionwithout pemisiond Herasisnd allored
DE RIND AVIENT
BetanC20/25. Draht Durddetender Kakel duithde PVC-Rdre kausit beirle m'”u
AftsitsaumimBersiddr PVC.Raro ert rsmEimg(grElekrdalBIau:fﬁI:r:/ eneteeEn FONDATION Y\ u ate e

Abreiderte Audihurgenrur mchRidsprade nit HERAS Niederdarde!

R

Bé&anC20/25. Fauneau avecaigiille paurtimge desdbes Lesfaumeauxdivert eser acessbespaurle pasage cescbes
Tateslesnudfiatios effeduées sars autaisatios e HERAS ed irterdte.

S

BetagC20/25. Lag kakelt ned dagred Aterfyl stakenefter mizggirgen

Andirgav utfdardet utantiltédfrinHeras & ej tildtet

DRAWN BY: EF

DATE: 26-5-2023

REF.NO:  fi_uGate23 De

TITLE:

FOUNDATION / BUILT UP / BASIC DIMENSIONS OPENING

DOUBLE

h

JE

i

i

PROJECT:

SLIDING GATE uGATE

p09473

DRAWING NO: REV NO: SHEET:

2v4

| 28




B Ade B
4x@14x100 ¥ Ke1130 ¥ Ko1130 ¥ 4x@14x100 ¥
M12x160 M16x200 M16x200 M12x160
—— ” . % 400 Xlsi -------- - I ——
g | ;T‘ﬁ—‘qr‘—ﬁ@:—:‘:—:‘j} | L | F{_Eéi?iiﬁ__ﬂ ———— T g
! ! [ -—- | | ! !
I ¢« = R L B S
kg | L 5| R I5: L I HALL
N 1| s N B _R | ! ! ;L_ ''''' I D | N o
N — I — K j— ———————— - ! —- &
< EL FL %a18d30 T 4xg18450 ¥ &o18&130 FR ER =
= V16,000 M16x200 M16x200 =
relwedijn Zaurfludi/fere lire/ reknerdijl Zaurfludt/fere lire/
aligenert doture/ daketlirje aligenernt doture/ daletiie
700 21075 21075 700
o o o o
S| nn 150 90 90 nn 150 2 2| min 150 90 90 nin 150 2
| | 1 ]

S gl e ¥ [Hlo 1w T e
> o HOe 2 > O o o >
R R L S
T % I | 8 | Lo % T v % Lo |£ | [ % v
< N | | N | | | N <t v I <| N | | Y | | | N| <
g s s s e e et
| | | |
g | = | 8 R R

| | | | /
8 I 10 EL FL 8 8 FR ER 70 I 8
£ Option[fere pad] £ £ Option[feree pad] £
2x012x100 ¥ 2x12x100 ¥
M10x130 M10x130
- -j .:;I:.. m
T : X uGate23 De
: - DRAWN BY: EF TITLE:
gebuik bomal 2027567 DATE: 26-5-2023 FOUNDATION / BUILT UP / BASIC DIMENSIONS OPENING
e e ReF NO:  fi_uGate23 De DOUBLE
utiligerle hait e perage ta bomal PROJECT: DRAWING NO: REV NO: SHEET:
s I SRR | s oG care ueate p09473 0 |3va




u Lr
Mde =£27
v M I ﬂ | |ﬂ | I I | ﬂl ﬂ I
oy &8 L . ! 3t 3t ! e o
S N A - ; L1 I i I i w1V _
~ >> CLOSE << N
< <
S S
£ k=
. I Ll Ji] ’ | il Jil I .
€ e e = e - 3
SR e E— ; )i T 1 ——
<< OPEN >>
Wenax
B Ade B
! M -
! Dde
' ! DOORGANG !
f OPENING
1 I DURCHGANG I
| PASSAGE
, H I CPPNING I
= ' =)= _HHH L = —
—j | — — T =3 e em—es T e Y © S | I
J We =+162
I R R L
T 1
We
nax 100
* 4|<——|
N >5riet toegestaarl Terdj anlerdargeninovereergenmirg Zjinverergdan T "1 T ; =:
verarierirggdepte te waartogenen corgtrudieve tetanis aargebadt! :;_“— | ! Ire) g
EN >%Hot allowed! Urlestheadedras are acodrdy exterdedtonairtainardoage | x ¥ o
ardoorgrudive aoete isplaced ! g i =)
DE >5%ridt auldsd Es i damde Arlerdangensndertspredend veragert urd | © 10 =: = ™
Korgtrultive tetanist argetradt! 7o) 0 +
R >%Hmonperni Sauf S lestiggsd armages sat wuffisammert ralogesde fagna . L ™ [<2] 8
mairterir larmage et § di o retrudif eg utilisd - * * E
S Avstatbt melantetagurcaneret ahfdplatta £ ite derstiga % Omdstta ser | N - :S:.-% ] x
négte urbrgutrirgutfaas H . C —
‘ —_
136, R H 200 _|_158 W)
|
oo A uGate e
type nbarsL | n barsR LI Lr B R Ade Dde Ude Udemax |m max [kg]
70 70 68 68 9620 9620 2130 7312 14807 14091 33943 33963 254 DRAWN BY: EF TITLE:
80 80 78 78 | 11020 | 11020 | 2530 | 8312 | 16807 | 16091 38743 38763 | 291 oATE.  26.5.2023 FOUNDATION / BUILT UP / BASIC DIMENSIONS OPENING
90 90 86 86 12140 12140 2650 9312 18807 18091 42983 43003 320 - DOUBLE
100 | 100 % 94 | 13260 | 13260 | 2770 | 10312 | 20807 | 20091 47223 47243 | 348 Rer.NO:  fi_uGate23 De
110 110 106 106 14940 14940 3450 11312 22807 22091 52583 52603 392 PROJECT: DRAWING NO: REVNO: | SHEET:
120 | 120 | 115 | 115 | 16200 | 16200 | 3715 | 12307 | 24797 | 24081 57093 57113 | 425 SLIDING GATE uGATE p09473 0 4v4
T




